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CHM 2210L
Quiz 1
4 pts each
1. In today’s experiment, you will distill a binary mixture containing:

a) equal amounts of hexane and toluene

b) cyclohexane and toluene in a 1:3 ratio

c) cyclohexane and toluene in a 1:2 ratio

d) equal amounts of cyclohexane and toluene

E) equal amounts of cyclohexane and benzene

2.  The boiling point of liquid A is 75 oC and that of liquid B is 85 oC. Which technique of distillation gives you the best separation of the two liquids?

a) simple distillation   

b) steam distillation    

c) vacuum distillation   

d) fractional distillation

e) water distillation

3. Which of the following isn’t true about a condenser in a simple distillation setup?

a)  It helps to condense the vapor.

b)  Its water-inlet is closer to the receiver.

c)  Its water-outlet is closer to the distilling head.

d)  It is placed between the distilling head and the receiver.

e)  Its water-inlet is closer to the distilling head.

4. One of the followings is not a part in a simple distillation setup.  

a) conical vial    

b) fractionating column   

c) thermometer    

d) distillation head    

e) condenser    

f) receiver

5. A student recovers 2.8 mL of toluene from 7.0 mL of a stock mixture containing cyclohexane and toluene in a 1:1 by volume. What is the percent recovery of toluene?  

a) 40%

b) 50%

c) 60%

d) 80%

e) 85%  

